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AT ¥y / GENERAL INSTRUCTIONS :

1. qfurefl @ gEfud 3o o Hio Ia-93% & Y8 2 W giga @ ganHi
# graur qdw dta & o ) al: qia gaad e s dhandi 6 =, @
dars &) qa gfaa 1 38 a1 A |
Carcfully verify all information rclated to the candidate, printed
on Page 2 of the OMR Answer Shect. If the printed information
belongs to any other candidate, then inform the Invigilator
immediately and get it replaced. i

2. 3IY QAT '[N FER omusﬂzmﬂéfﬁ#ﬁxmm 1
Put your full signature on th¢ OMR Anawer Sheet in the space
provided.
3. @ W i A g@ 40 vg-faweda wr E |
There arc 40 Multiple Choice Questions im ﬁlw_(gucstmn Booklct
4. R we b § | sk T W ST 1 o
All questions are compulsory. Each question carries | mark.
No marks will be deducted for wrong answer.
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S.

OMRmm$w1wmmﬁﬁi¥ﬁaﬁmﬂqﬁ$qéamm
HTER & HY | |

Read the instructions provided on page 1 of the OMR Answer
Sheet carefully and do accordingly.

¥A% W § °R fawod (A, B, C, D) R ™ ¥ | 3 ® AR I9gH
I HT I AT OMR I THF G AF-31 TE HIem Sl A o
HTCAl STcT-ATEE FHoAd FHT &1 T &< | Ufqer &1 ¥a@n afed ¢

Four options ( A, B, C, D) are given for each question. You have
to darken duly the most suitable answer on your OMR
Answer Sheet. Use only Blue or Black Ball-Point Pen. The use of
Pencil is not allowed.

FIAT G 9 BI$H A TEl OMR 39T U dtedds &t ser ifad |
F¥A g 37T 39 T & S Tt § |

Before leaving the examination hall, please hand over the OMR
Answer Sheet to the invigilator. You are allowed to take the

question booklet with you.
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OMR I 0@ W T f&wi &1 ages oo #ifwe N

Adhere to the instructions provided in the OMR Answer Sheet
very carefully otherwise your OMR Answer Sheet will be invalid
and it will not be evaluated.
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| m%mgixwaﬁmm%mﬁqﬁ%ﬁmm%mﬁ
g 4§ ¥ off ? |

(A) Frumt W R & sy
(B) T F Hrew
(C) a1 i MW & & Frw
B wHawh
For which of the following reasons was the French Emperor

Louis XVI sentenced to death by the court ?

(A) Due to atrocities on farmers

(B) Because of treason

(C) Because of exploiting the public

(D) All of these
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2. wiEliE wfE % A 4 s, 1780 H U B v sdwe T AR
¥ Sru 9if e g 9 o
(A) RS st o1 & windt s 5 99w $Q
(B) et & F wwdt ) oh o3 fasriew Beq % R o w3
(C) mwmwmﬁ%wﬁamzﬂhwm
D) T a ;i

What provisions were passed by the National Assembly on the

night of 4th August, 1789 during the French Revolution ?

(A)  To abolish the feudal system of obligations and taxes

(B) Forcing even members of the clergy to give up their
privileges
(C)  Abolishing religious taxes and confiscating church-owned

land

(D)  All of these
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3. SNEIE IS Yt w1’ 9 R s o o
A)  %ehs dew B) T ImH
" (C) T AT (D) < frwem
Tndustrial sﬁciety is a capitalist society.’ Whose idea was this ?
(A)  Friedrich Engels - (B) Robert Owen

(C) Karl Marx (D) Jar Nicholas

4. & sfage | e § @ fopg wifa 1 @H ToER F T @ ot 3 e

AT g ?
(A) 1905 6 swif4 By 1907 # i<
'.(C] 1915 & HIfA (D) 1917 & WA

LR 5 of 40



1

IX-(9)/m1/7007 JAC IX-( SoC)

. ions i |
In Russian history, which of the following revolutions is alg, !

remembered by the name of ‘Bloody Sunday’ ?
(A)  Revolution of 1905
(B)  Revolution of 1907

(C) Revolution of 1915

(D)  Revolution of 1917
5. St @ g @ fwe ¥ R ‘g AAT e 1 rd 2
(A) WwIE B fwa .

€y I (D) ¥=
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Who created the ‘Dawes Plan’ to get Germany out of the crisis ?
(A) France (B) Britain
(C) America (D) Russia
6. e fufi o it Ay v e, e &
@A) A dg
| (C) eifd qg1 Hopem 3R arfy g whify

(D) ¥ A =+ 7

LTI T

| ?'of4(i1



IX-(9)/111/7007 JAC X( soc

The situation when prices increase uncontrollably, is called
(A)  Extreme currency contraction

(B} Hyperinflation

(C) Hyper currency contraction and hyperinflation

- (D)  None of these
7. % gH X A ulea # w1 wEy o
(A)  F-fomma (B)  sgEw

(€) aifrh (D) T

T
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What is the process of extinction of forests called ?
(A) Forest destruction

(B) Pollution
(C) Forestry

(D) Forest products

8. T WHSHE F AN HUA HAREI H IUd g VA H d IW H TWE IA

a3k o el el afv wifY i fa 3 - e ofk WA ST

Ffrmradfmge
(A) S W (Bf WS WeW
(C) reurTEd Wem (D) few=et wem
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e -

The people of the Gaddi community graze their cattle and may, |
|

north in April and spend the entire summer in Lahaul apg

SPiti. In which state of India are Lahaul and Spiti located ?
(A) Uttar Pradesh _ (B) Madhya Pradesh

(C)  Arunachal Pradesh (D) Himachal Pradesh

9. 1871ﬁ%ﬁm3ﬁwﬁéﬁmmmquH@wWﬁﬁ@

S = 8 @ #) a2

(A)‘ﬁuéig?ﬁamaﬁrﬁm
(B) 3muufyes sy sfufag
(C) &I Mufaa sfufay

(D) 9 faarg Fives srfufam
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Which of the following was onc of the worst laws passed by thc

British Colonial government in 1871 ? |
(A) Widow Remarriage Act

(B) Criminal Tribe Act

(C) Official Secret Act

(D}  Child Marriage Restraint Act

b, S, e, A, A ol gE go ST Wl %

- mﬁlﬁmwm&ﬁmmﬁ%?

JA) 3kl (B) WRd

(C) AU (D) ¥eW
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- kana are
Bedouins, Berbers, Massai, Somali, Boran and Tur the

iti | un
names of some pastoral communities. In which country are

these pastoral communities found ?
(A)  Africa (B) India
(C) Nepal (D) Bhutan

11. ﬁqﬁﬁm—m%mﬁwﬁﬁﬂiﬁzﬁﬁméﬂ%m@w

E i
(A) fm (B) % .
© omfem (D) YNM
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Which of the following countries is known as the bread basket

country of the world ?
(A) Britain (B) France
(C) America (D) Japan
12, geft W frdve few 2w & Sem mn a2
(A) ¥Rd (B)  Aieforan
(© = (D) ¥AvS
In which country was cricket played for the first time ?

(A) India (B) Australia

(C) China (D) England
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13. e fawan wul fRm R 2
BT g LSOk S (B) 3R HIR
(C) =B fi @& (D) feg HETERR
Where is Andaman Nicobar located ?
(A) Bay of Bengal (B) Arab;an Sea
(C)  Gulf of Kutch (D) Indian Ocean
14. 1 5 3 e vda ) 0 Jaen @& g9 e 9 goid 2 o
(A)  IwEef B) fwa

(© frers (D) ety
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15.

The entire range of which of the following mountains shows a

young topography ?

(A)  Aravali (B) Vindyachal

(C) Himalaya (D)  Nilgiri

vt 61 e snRE @) Sl § @ e it § Renf R
T 8 ?

(a) femem vda fEen w@ I9h AgH

(B) g TR T ad AqH

(C) WRdE 7oedel T 9 W

-
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The geographical features of India are divided into which of tp,

following categories ?
(A)  Himalayan mountain range and northern plains
(B) Peninsular plateau and coastal plain

(C) Indian desert and islands

(D)  All of these

16. fi&g,rﬁnqémgammmwﬁﬁﬁaﬁm%mﬂmﬁ

fre g it firdh urft e 2 2
(A) et (B) use
(€ veig (D) vl

ML
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What type of soil is found in the northern plains of India formed

by the Indus, Ganga, Brahmaputra and their tributaries ?
(A) Black (B) Laterite
(C) Alluvial (D) Saline

17.  femrera € Afedt 319 ST F UM A I TR 0% H 4 T B &

81 % o Tt 35l ot 3. P s Y B e 8 2
(A) 3T - ® RIS
© fagau Py wEaWR

(T e . | 17 o 40



The rivers of the Himalayas cover a long distance from thg

Place of origin to the sea. What type of action does it perform

the upper parts of its path ?
(A)  Erosion (B) Transportation
(C)  Deposition (D)  All of these
18. o, =, e, wiow P 8 3 v ) war et # o
S Al (B) Waﬁ

© heEd )  wEEd
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The Purna, The Wardha, The Pranhita, The Manjra arc

tributaries of which of the following rivers ?

(A)  Krishna (B) Kaveri

(C) Godavari (D) Mahanadi

19. ﬁ@qﬁuﬁwémﬁww%mmaﬁwqﬁﬁm%

e Tw @ B e R 2
(A) AT (B) from
(C) =frg R
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- I - -
The Tropic of Cancer passes through which state of India in the

east from the Rann of Kutch in the west to the central part

the country ?
(A) Meghalaya (B) Mizoram
() Manipur (D) Tripura

20. ¥ 1 KT o 1 o 2 et s 5

By =N B®) yiw

(C) ugan D) "

WRRRITEN
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The climate of India is highly influenced by which type of

winds ?
(A) Trade (B)
(C} Western (D)

21. IA: $fY wg H I 2 ?
(B) IS W T
(B) 3EHAd YN W
(C) el 9yl g™ & A |

(D) ¥ & aft

GO

Polar

Monsoon
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Where is agriculture generally done ?
(A)  On fertile land
(B} On uneven terrain

(C)  On forest and grassland

(D)  All of these

22. Wm.qmmmwﬁﬁaﬁwaﬁﬁmﬁﬁﬁqﬁ#ﬁa

HE 8 ?
7 (B) st
(C) 9da (D) dATaHH

L
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23.

Which of the following controls the local climate, soil erosion

and river flow ?

(A} Forest (B) Rain

(C) Mountain (D) Temperature

= % 4 SEeE qiEdT % 9@ SR we-9 € 2

Ay S (B) WI

(C) warEa 4D) T & o

Which of the following are the main causes of population

change ?
(A)  Birth (B) Death
{C) Migration (D)  All of these

II|l|II|I\HII\lIIlIlIlIIIIlI“IIIﬂ | 23040
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24, Fra § @ 99w safs w) agm s a9 & IR B ANFR T ¢,
By ®Rum (B) erehad
(C) @@ (D) Tgufa

Which of the following gives every person the right to become

his own exploiter ?
(A)  Constitution (B} Democracy

(C) Government (D) President

25. aﬁaﬁa%ﬁwﬂﬁmwaﬁﬁwﬁﬁaﬁ?-ma@qﬁgp
(A) I #) g
(B) WA W InuRE e

(C) T

AD)  yFam™l ) yaerd

.
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26.

Which of the following arguments given against democracy is

not correct ?

(A)  Worship of unworthy

(B) Governance based on public opinion
(C) Unresponsive governance

(D)  Predominance of the rich

R SR P e T BT ?
A '26 Ja9E, 1949 (B) 26 Fad, 1949
(C) 26 =a{l, 1950 (D) 15 3, 1947
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When was the Constitution of India prepared ?

(A)  26th November, 1949

(B)  26th January, 1949

(C)  26th January, 1950

(D) 15th August, 1947

27. “ﬁw%%q'ﬂmaﬁmmiaﬁaﬁamtﬂaﬂzmé

g ' — T8 HUA 1931 ¥ A0 T e & Red fora o 2
(A) gIN I 99 (B) o yimm araeat

(C) e Wit (D) SEEET E®

0T e



IxX-( SOC) JAC IX-(9)/111/ 7007

Who wrote the statement, “l want a Constitution for India
which will free her from slavery and subjugation” in his book

Young India’ in. 1931 ?
(A) Subhash Chandra Bose
(B) Dr. Bhimrao Ambedkar
(C) Mahatma Gandhi

(D) Jawaharlal Nehru

263_T§Fi, 1994 &1 0wy U &1 gfaror e T Fa7 Arehd i oW §4

T e WY A 9wl e d @ ofedw @ # e o
(A)  TTHT STEll ITHA ST HHTH §S

B) wft 9%t % & i fret et R s+

(C)  TIOTUSY h 74T SST STl 7T

or wEawd
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29.

T gt i

At midnight on 26th April, 1994, South Africa became a new
democratic country. Along with this, which of the following

changes were seen there ?

(A)  The apartheid systcm.cnded

(B) A mixed government of people of all races was formed
(C) A new flag of the Republic was raised

(D) Al of these

mﬁﬁmﬁﬁﬁamﬁwﬁnﬁﬂwmaﬁaﬁm

AT R P
m o T . (B) @dufw gvvg
€ 3< (D) ¥ & +r 7
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In any democracy, which of the following 18 considered

mandatory to happen at regular intervals ?

(A)  Election
(B)  Constitutional amendment
(C) War
(D)  None of these
30. W@ ¥ Frafad smm A fir § @ S- srftrer W £ 7
(A) T ufwar % wEre 1 favie S
(B) g™l gATd Hiean @w F
() wwwr H Ren- P A I @

oy wHa®h
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| Cppresstntior, -
- &/}f- //"’ o = .
W}lll j' ‘,' 1,". If’llf.,WIHP: ‘.“,W‘:"a f’}')‘:b’ i y/r’/,

Indin have 7

(A)  To decide on the conduct of election prooess

(B)  Implementing model election code

(C) Ordering the government to follow the guicd<iin=
(D)  All of these

31. P 4 8 99 a&Fr %1 ygE 2@ 2 aw mmn ) 3w = s

AU 1 9qM H@r 2 2

(A) & g (BY  Wawmws

() fcw wh D) T
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32.

O

JAC [lx-(gunumoa'

mong the following is the head of the government and

exerci
S€s most of the powers on behalf of the government ?

(A)  Defence Minister
(B) Prime Minister
(C) Foreign Minister

(D) Home Minister

1979 # GHT Y g a1 Mys & @ fiss T Ht TgaH & I

@ u I @ e fRE U1 | 96 S W e A | S o R o

(€) HeH I (D) T S
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In 1979, the government constituted a commission for the
Purpose of identifying socially and educationally backward

Classes. By what name is. that commission known ?
(A)  Law Commission

(B) Human Rights Commission

(C) Mandal Commission

(D) Planning Commission

33. = # @ fpm afiwRr #t 44 a1 G3wfae dm sfufam, 1978 %

g0 Hiferes ARl Y gt & g femn mn o
W Tty &1 AR (B) ShaT ® s
() ud % AfHR (D) Toam =1 arfren

L a2 o
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Which of t :
.he following rights was removed from the list of

fundamen i
tal rights by the 44th Constitutional Amendment

Act, 1978 ?
(A} Right to Property (B) Right to Life
(C)  Right to Religion (D)  Right to Education

34. YA g ° At & @l st 3w wifd % an 9w, 9%

fpa qRam £ ?
@) 450 (B) 150
(©) 80 (D) 25
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How Mmany families are there in Palampur village who own most
|

of the land and are considered to be upper caste ?
(A) 450 (B) 150

(C) 80 - D) 25

35. ﬁwﬁﬁaﬁ?m%&ﬂ@mwwﬁaﬁ%ﬁﬁmﬁwﬁa@m

3ETEH 8] B ?
(a) I T IRF B o a
(C) ¥ty qe e (D) Eﬁﬁ.aﬁé?ﬁ

(TR o
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Which of the following arc considered passive means of

production which do not produce anything themselves ?

(A) Land and fertilizer (B) Land and capital

(C) Land and pesticides (D) None of these

36. 19 Wrhfaeh dH1UA T ifos §oft Y amen sEEn &) amn § seius

gfe Bt 2, @ 3mE fa d & fw yeR i sEwEead 9gd g

Tt § ?
Jr (B) fum
(c) fafeea (D) ¥ A

IR o i
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When the amount of population increascs much more than the

natural resources and physical capital, then which of the

following types of needs increases greatly ?
(A)  Foodgrains (B) Education

(C) Treatment (D)  All of these

37. 9@ yaferd woll I W FW HW F R 357 @M R A8 T o

ﬁsﬁ#mm%?
A ST B) wm-vife

(C) e Iy D)
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38.
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What is j
L 1s it called when people willing to work could not find

employment at the prevailing wage rate ?
(A) Unemployment (B) Labour-force
(C) Population growth (D) Poverty

Prefar YaT 1 SE E-E W (e g aie o ) FeE A A

Reg¥ wreaw A T w2 2

(A) T aRER W waE

B uﬁﬂmﬁmw

(C) n@umﬁﬂ@'&ﬁ
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39.

. ually eve
The poverty line is assessed from time to time; (us Y ry

five years) through which of the following ?
(A)  National Family Health Survey

(B) National Sample Survey Organisation
(C) National Map Agency

(D)  National Statistical Commission

oare 3N gRET W8 o B 4 @ e e @ kv e wQ 3

qRufe &9 Q Tt @ § ?
& T I (B) I= e fy

(C) I ;e & T (D) 3= TR gfy o

T o
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- States like Punjab and Haryana have traditionally been
successful in reducing poverty because of which of the

following ?
(A)  High agricultural growth rate
(B) High population growth rate
(C) High unemployment growth rate
(D)  High health growth rate
40. W.ﬁnﬁﬁﬁﬂ%wﬁwzﬁmwr@maﬂ?ﬁ% ?
(A) 3 3R wgd fawm fm
(B) R @ A

©€) TR He foww fom
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Government maintains buffer stock through which of the
following ?

(A)  Housing afld Urban Development Corporation

(B) Food Corporation of India

(C) National Skill Development Corporation

(D) National Small Industries Corporation

| AR 40 of 40



